



#### INTER CLUB COUNCIL AT UNIVERSITY OF CALIFORNIA, MERCED ALLOCATION OF FUNDS PROPOSAL FINAL APPROVAL DOCUMENT



ICC MEETING DATE: 10/10/2016		
EVENT DATE: <b>10/29/2016</b>		Meeting Notes <ul> <li>viewing party similar to</li> </ul>
EVENT NAME: League of Legends World Champions Finals Viewing	Party	superbowl • ~3-5 hours
CLUB: League of Legends Club		<ul><li> 35 attendees</li><li> providing food</li><li></li></ul>
TOTAL AMOUNT REQUESTED: \$223.09		
TOTAL AMOUNT APPROVED: \$223.09		
<u>VOTE</u>		
YES: 4		
NO: 2		

ASUCM PRESIDENT SIGNATURE:

Katelyn Filzgened

APPROVED:

NOT APPROVED:

DATE:

From:	asucm@ucmerced.edu on behalf of Associated Students of UC Merced
То:	UCM Inter-Club Council
Subject:	Form submission from: ICC Proposal Form
Date:	Wednesday, October 05, 2016 10:03:28 AM

Submitted on October 5, 2016 Submitted by anonymous user: [::ffff:73.151.179.212] Submitted values are:

Contact Name (First and Last): Robert Porcella Contact E-Mail: rporcella@ucmerced.edu Club Name: League of Legends Club at UC Merced Are You a New or Returning Club for the 2015-2016 Academic Year? New What Type of Proposal is This? Small Ticket Event Date: Oct. 29, 2016 Start Time of Event: 4:30 pm End Time of Event: 10:00 pm Event Title: League of Legends World Championships Finals Viewing Party Event Location: Kolligian 217 Description of Event: The League of Legends World Championships pits 16 teams from different regions against each other in the chance of claiming total glory and ultimate bragging rights. The Finals will pit 2 teams against each other hopes of crowning a champion for the 2015-2016 season Have You Received an ASUCM Line Item for this Event? No Budget Breakdown: http://asucm.ucmerced.edu/sites/asucm.ucmerced.edu/files/webform/league\_of\_legends\_icc\_funding\_proposal.docx Total Amount Requested: \$223.09 Are You Bringing in a Speaker: No Description of Speaker (Optional):

The results of this submission may be viewed at: http://asucm.ucmerced.edu/node/135/submission/4631



## -RCO EVENT FUNDING PROPOSAL

## **RCO Name: League of Legends at UC Merced**

**Event Title: League of Legends World Championship Finals Viewing Party** 

### Total Amount Requested: 223.09

### FACILITIES - 0.00

FACILITY	VENDOR	RENTAL RATE	HOURS OF USE	TOTAL PRICE
Kolligian 217	UCM	n/a	6	0.00

#### HONORARIUM/SPEAKER – n/a

Name(s) of Honorarium/Speaker(s): n/a

Description of Services/Cost: n/a

**<u>PERFORMER</u> – n/a** 

Name(s) of Performer(s): n/a

Description of Services/Cost: n/a

### ADVERTISING – N/A

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL	
					SUBTOTAL
					TAX

<b>GRAND</b> 7	TOTAL
----------------	-------

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL	
Pizza	Costco	10.00	6	60.00	
Water	Costco	5.20	3	15.60	
Soda	Costco	12.49	3	37.47	
Ice Cream	Costco	6.99	5	34.95	
Cones	Costco	3.97	5	19.85	
I				167.87	SUBTOTAL
			-	5.35	TAX (if applicable)
			-	223.09	GRAND TOTAL

## **<u>FOOD/DRINKS</u>** – [insert requested amount here]

## ADDITIONAL SUPPLIES – n/a

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL	
Plates	Costco	17.39	1	17.39	
Chips	Costco	10.99	1	10.99	
Napkins	Costco	11.49	1	11.49	
Ice	Costco	10.00	2	10.00	
				49.87	SUBTOTAL
					TAX
				223.09	GRAND TOTAL

# <u>OTHER</u> – n/a

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL	
------	--------	---------------------------	---------------	-------	--

		SUBTOTAL
		TAX
		GRAND TOTAL